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MARKS: 60
ATTEMPT ANY FOUR QUESTIONS FROM THE FOLLOWING
ALL QUESTIONS CARRY EQUAL MARKS )

Q1A Explain the provision of companies Act for Redemption of Redeemable Preference

Shares. : 05
QIB. Calculate the amount to be transferred to Capital Redemption Reserve Account in each O{f(') th]e
following cases: [10]
Redeemable Preference Shares Fresh Issue of Shares ]
1. Rs. 500000 to be redeemed at par Rs. 300000 at par
2. Rs. 500000 at a premium of 5% Rs. 300000 at par
3. Rs. 500000 redeemable at par Rs. 300000 at a pr'emium of 10% |
4. Rs. 500000 redeemable at par Rs. 300000 at a discount of 10%
5. Rs. 500000 redeemable at a premium of | Rs. 300000 at a premium of 10%
5%

Q2. The following is the Balance-Sheet of Bharat Company Limited as on 315 March 2022, [15]

Liabilities Amount [Rs.] | Assets Amount {Rs.]
Share Capital: Fixed Assets: |
Authorised: Land and Building 75000
20000 shares of Rs. 10 each Plant and Machinery 45000
200000 '

Subscribed: Current Assets:

10000 Equity Shares of Rs. 100000 Sundry Debtors -35000
10 each

3000 5% Redeemable 30000 Stock in Trade 25000
Preference Shares of Rs. 10

each

(P-ted ¢y




Reserves and Surplus: Cash on Hand 20000

Capital Reserve 20000
General Reserve 12600
Profit and Loss Account 15000

Current Liabilities and
Provisions:

Sundry Creditors 23000

200000 200000

The company decided to issue 2000 Equity shares of Rs. 10 each at a premium of Rs. 2 per share for
cash and to redeem at par 3000 5% Redeemable preference shares. You are required to pass
necessary Journal Entries and to prepare a Balance-Sheet after redemption.

Q3. The following balances appeared in the books of Ashoka company as on 31 December
2021: [15]

12% Morigage Debentures Rs. 1000000 of Rs. 100 each, Sinking Fund for Redemption of
Debentures Rs. 1042000, Investments: Rs. 500000 10 % Government Loan purchased at par,
560000 9% Government paper purchased for Rs. 542000.

On 28" February 2022 the investments were sold at Rs. 110 and Rs. 99 respectively. And
Debentures were paid at Rs. 102 together with accrued interest. The interest on Debentures had

been paid upto 31% December 2628 Prepare necessary Ledger Accounts,
2024 :
Q4. Write Notes on the following: f15]

1. Debentures issued at a discount
2. Debentures Issued at Par
3. Debentures issued at a premium

Q5A. What is Accounting Standard? Explain the Usefulness of Accounting Standard in detail. [10]

Q5B. Write a Note on AS 1 [disclosure of Accounting policy] [05]

Q6. Write Notes on : [15]

I. AS 2 [valuation of Inventory ]
2. As 6 [Depreciation Accounting]
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- Q7A. What is Ratio Analysis? Explain the Utility of Ratio Analysis.

+ Q7B. Explain the Limitations of Ratio Analysis,

Q8. Following are the summarized Balance sheets for the two years, You are required (o

Caleulate the following Ratios for Two years:
Balance-Sheet

[10]
[05]

t15]

Liabilities 2021 Amount | 2022 Amount Assets [ 2021 Afmount | 2022 Amount
[Rs.] [Rs.] [Rs.] [Rs.]
Share Capital: Fixed Assets 350000 490000
Equity shares of 100000 150000 Current N
Rs. 100 each Assets;
8% Preference 50000 50000 Stock 150000 60000
Shares of Rs, 100
cach
Reserves 200000 150000 Debtors 40000 35000
6% Debentures 100000 100000 Cash 10000 5000
Current liabilities 30000 120000
Bank Over Draft 20000 20000
550000 590000 550000 590000

From the following Information Calculate

Al e

Current Ratio
Liquid Ratio
Acid Test Ratio
Proprietary Ratio
Long Term funds to Fixed Assets Ratio

{3)
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